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&�"$�&�'!� "%!"�� "$�А!��А&��!"-��"!" �'!"�" 
 �%А!�� ' '#$А���!!/ �!��%&�&��!�  #$"&�%"  !А 

#��#$�Є %&�� 
 

1.1. #>=OBBO V=25AB8FV9=>3> ?@>F5AC V 9>3> @>;ь C D>@<C20==V 
:>=:C@5=B=8E ?5@5203 

 

&5@<V= «V=25AB8FVS» (2V4 ;0B8=AP:>3> «invest» - 2:;040B8) S: 

5:>=><VG=0 :0B53>@VS C2V9H>2 2 C:@0W=AP:C =0C:>2C ;VB5@0BC@C =0?@8:V=FV 

80-E @>:V2 )) AB>;VBBS. *59 ?5@V>4 2VBG87=S=>W 5:>=><V:8 <>6=0 

>E0@0:B5@87C20B8 S: ?@>F5A @8=:>2>W B@0=AD>@<0FVW  ACA?V;PAB20, S:89 

AC?@>2>46C202AS :>@V==8<8 7<V=0<8 5:>=><VG=8E, V 7>:@5<0, V=25AB8FV9=8E 

2V4=>A8=. *V 7<V=8 ?@825;8 4> ?5@53;S4C ACBV 1030BP>E 5:>=><VG=8E 

:0B53>@V9, B0:8E  S: «V=25AB8FVW», «V=25AB8FV9=0 ?>;VB8:0», «V=25AB8FV9=0 

4VS;P=VABP» B0 V=.  

 5B>4>;>3VG=>R >A=>2>R 4>A;V465==S 2 >1;0ABV V=25ABC20==S є 

ACG0A=V 5:>=><VG=V B5>@VW, =0C:>2V @>7@>1:8 C:@0W=AP:8E V 70@C1V6=8E 

D0EV2FV2 2 >1;0ABV V=25AB8FV9, A>FV0;P=>-5:>=><VG=>3> @>728B:C @53V>=V2, 

B5@8B>@V0;P=>W >@30=V70FVW 3>A?>40@AB20, 0 B0:>6 70:>=>402GV V =>@<0B82=V 

0:B8 7 ?8B0=P V=25AB8FV9=>W 4VS;P=>ABV 2 ':@0W=V. 

' =0C:>2V9 ;VB5@0BC@V =02>48BPAS 1030B> 7=0G5=P ?>=SBBR «V=25AB8FVS» 

V WW 5:>=><VG=>W ACB=>ABV, 0;5 1V;PHVABP B>G>: 7>@C 72>4SBPAS 4> B>3>, I> 

V=25AB8FVW – F5 2AV 2848 <09=>28E B0 V=B5;5:BC0;P=8E FV==>AB59, S:V 

2:;040RBPAS 2 >1’є:B8 ?V4?@8є<=8FP:>W B0 V=H8E 284V2 4VS;P=>ABV, 2 

@57C;PB0BV G>3> AB2>@RєBPAS ?@81CB>: 01> 4>AS30єBPAS A>FV0;P=89 5D5:B. 

�3V4=> �0:>=C ':@0W=8 «#@> V=25AB8FV9=C 4VS;P=VABP» 4> B0:8E FV==>AB59 

=0;560BP [48]:  

- 3@>H>2V :>HB8, FV;P>2V 10=:V2AP:V 2=5A:8, ?0W, 0:FVW V V=HV FV==V ?0?5@8; 

-  @CE><5 V =5@CE><5 <09=>;  
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-  <09=>2V ?@020, ?>2'S70=V 7 02B>@AP:8< ?@02><, 4>A2V4>< V V=H8<8 

2840<8 V=B5;5:BC0;P=8E FV==>AB59;  

- AC:C?=VABP B5E=VG=8E, B5E=>;>3VG=8E, :><5@FV9=8E V V=H8E 7=0=P, 

>D>@<;5=8E C 283;S4V B5E=VG=>W 4>:C<5=B0FVW, =028G>: V 28@>1=8G>3> 

4>A2V4C, =5>1EV4=>3> 4;S >@30=V70FVW BVєW 01> V=H>W 4VS;P=>ABV C AD5@V 

28@>1=8FB20, 0;5 =5 70?0B5=B>20=>W ("=>C-E0C");  

-  ?@020 :>@8ABC20==S 75<;5R, 2>4>R, @5AC@A0<8, 1C48=:0<8, A?>@C40<8, 

CAB0B:C20==S<, 0 B0:>6 V=HV <09=>2V ?@020, V=HV FV==>ABV [1]. 

$V7=><0=VBBS ?>=SBP V=25AB8FV9=>W 4VS;P=>ABV, 7>:@5<0 :0B53>@VW 

«V=25AB8FVW», 287=0G82 H8@>:89 A?5:B@ D>@< V=25AB8FV9 (@8A.1.1.).  

�0 E0@0:B5@>< 28:>@8AB0==S V=25AB8FVW 4V;SBPAS =0 20;>2V V=25AB8FVW V 

G8ABV. �0;>2V V=25AB8FVW E0@0:B5@87CRBP 7030;P=89 >1AS3 :>HBV2, 

=0?@02;5=8E 2 ?52=89 ?5@V>4 =0 2V4B2>@5==S, =>25 1C4V2=8FB2>, 

@5:>=AB@C:FVR V B5E=VG=5 ?5@5>A=0I5==S 28@>1=8FB20, ?V4B@8<:C 

?>BC6=>AB59, I> 4VRBP, 71V;PH5==S B>20@=> - <0B5@V0;P=8E FV==>AB59 B0 V=.. 

#V4 G8AB8<8 V=25AB8FVS<8 @>7C<VRBP 2:;045==S :>HBV2 4> 7=>2 AB2>@5=8E 

28@>1=8G8E D>=4V2. "1AS3 G8AB8E V=25AB8FV9 287=0G0єBPAS S: @V7=8FS <V6 

20;>28<8 V=25AB8FVS<8 B0 25;8G8=>R 0<>@B870FV9=8E 2V4@0EC20=P. $V25=P 

@>728B:C F8E D>@< V=25AB8FV9 є ?>:07=8:>< A?V22V4=>H5==S <V6 ?@>AB8< V 

@>7H8@5=8< 2V4B2>@5==S<, 0 B0:>6 E0@0:B5@87Cє @V25=P 5:>=><VG=>3> 

@>728B:C :@0W=8. 

' @>1>B0E �>=G0@ ".�. [6] V �023>@>4=P>W �.� [16] =040=0 :;0A8DV:0FVS 

V=25AB8FV9 ?> D>@<0E. #@>B5, VA=CRG0 AE5<0 :;0A8DV:0FVW V=25AB8FV9 

=54>AB0B=P> ?>2=0. &><C =5>1EV4=5 ?@>2545==S ?>40;PH8E =0C:>28E 

4>A;V465=P 2 FP><C =0?@S<V. !0 =0H ?>3;S4, =091V;PH ?>2=>R є 

:;0A8DV:0FVS =040=0 C @>1>BV, S:0 ?5@5410G0є HVABP >7=0: :;0A8DV:0FVW 

V=25AB8FV9:  

- ?> >1'є:B0E V=25ABC20==S;  

- ?> B5@<V=0E;  

- 70 E0@0:B5@>< CG0ABV 2 V=25AB8FV9=><C ?@>F5AV;  
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- ?> D>@<0E 2;0A=>ABV;  

- 70 465@5;0<8 DV=0=AC20==S;  

- 70 @53V>=0;P=>R >7=0:>R. 

 ("$ � �!��%&�*�� 

�0 E0@0:B5@>< 28:>@8AB0==S 

+8ABV �0;>2V 

(�!�!%"�� $���Ь!� 

#> ?5@V>40< 
V=25ABC20==S 

�>23>AB@>:>2V %5@54=P>AB@>:>2V �>@>B:>AB@>:>2V 

�0 E0@0:B5@>< CG0ABV 

#@S<V !5?@S<V 

�0 D>@<0< 2;0A=>ABV 

#@820B=V �=>75<=V 

�030;P=V �0 465@5;0<8 DV=0=AC20==S 

�;0A=V #>78:>2V #@825@=CBV 

$8A. 1.1 �;0A8DV:0FVS D>@< V=25AB8FV9 

 

"4=VєR 7 =091V;PH 3>;>2=8E >7=0: :;0A8DV:0FVW V=25AB8FV9 є >7=0:0 

>1'є:B=>3> V=25ABC20==S, S:0 ?5@5410G0є @0=68@C20==S F8E V=25AB8FV9 =0 

DV=0=A>2V V @50;P=V. (V=0=A>2V V=25AB8FVW - F5 2:;045==S :>HBV2 2 

@V7=><0=VB=V DV=0=A>2V V=AB@C<5=B8 (0:B828), B0:V S: FV==V ?0?5@8, 10=:V2AP:V 
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0:B828, 45?>78B8. �06;82>R ?5@54C<>2>R FP>3> 284C V=25AB8FV9=>W 

4VS;P=>ABV є @>728B>: D>=4>2>3> V 3@>H>2>3> @8=:V2. 

$50;P=V V=25AB8FVW – F5 2:;045==S :>HBV2 2 <0B5@V0;P=V V =5<0B5@V0;P=V 

0:B828. �2060RG8 =0 A?5F8DV:C =5<0B5@V0;P=8E 0:B82V2, 45S:V D0EV2FV 

284V;SRBP >:@5<> V==>20FV9=V V V=B5;5:BC0;P=V V=25AB8FVW [1]. 

�0 B5@<V=0<8 V=25AB8FVW 1C20RBP 4>23>AB@>:>2V, A5@54=P>AB@>:>2V V 

:>@>B:>AB@>:>2V. %2VB>289 4>A2V4 ?>:07Cє, I> =091V;PH 5D5:B82=>R D>@<>R 

є 4>23>AB@>:>2V V=25AB8FVW. �?@>20465==S V @50;V70FVS 4>23>AB@>:>28E 

V=25AB8FV9=8E ?@>5:BV2 D>@<Cє ?5@A?5:B82=C <0:@>5:>=><VG=C AB@C:BC@C 

:@0W=8, 0 7<V=8 C 2=CB@VH=P><C V 7>2=VH=P><C @>7?>4V;V ?@0FV, 287=0G0RBP 

<VAF5 ':@0W=8 2 A2VB>2V9 5:>=><VFV. #@>B5, V7-70 =5AB01V;P=>3> A>FV0;P=>-

5:>=><VG=>3> AB0=C 2 5:>=><VFV ':@0W=8 V ?@02>2>W =570E8I5=>ABV V=25AB>@V2, 

2 :@0W=V ?5@52060RBP :>@>B:> V A5@54=P>AB@>:>2V V=25AB8FVW (<5=H5 1 @>:C). 

�0 E0@0:B5@>< CG0ABV 2 V=25ABC20==V V=25AB8FVW 1C20RBP ?@S<V V =5?@S<V. 

#V4 ?@S<8<8 V=25AB8FVS<8 @>7C<VRBP :@548BC20==S, S:5 74V9A=RєBPAS ?@8 

157?>A5@54=V9 CG0ABV V=25AB>@0 C 281>@V >1'є:BV2 V=25ABC20==S. !5?@S<V 

V=25AB8FVW - F5 2:;045==S :0?VB0;C G5@57 V=25AB8FV9=8E 01> DV=0=A>28E 

?>A5@54=8:V2. &0:0 D>@<0 V=25ABC20==S A:;040єBPAS, =0 =0HC 4C<:C, 7 

:V;P:>E ?@8G8=: 

- =5 740B=VABR VA=CRG8E V=D>@<0FV9=8E A8AB5< A2>єG0A=> =040B8 

V=D>@<0FVR V=25AB>@C; 

- 2V4ACB=VABP <>6;82>ABV C V=25AB>@0 A0<>ABV9=> 709<0B8AS 

V=25AB8FV9=8< 1V7=5A><. 

!0 AP>3>4=V 206;825 7=0G5==S <0є :;0A8DV:0FVS V=25AB8FV9 70 D>@<0<8 

2;0A=>ABV. �V;PHVABP A?5FV0;VABV2 284V;SRBP G>B8@8 2848 V=25AB8FV9 [10, 25]:  

- ?@820B=V;  

- 45@602=V;  

- V=>75<=V;  

- 7030;P=V. 
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#V4 ?@820B=8<8 V=25AB8FVS<8 @>7C<VRBP 2:;045==S :>HBV2 =0A5;5==S<, 

:>;5:B82=8<8 ?V4?@8є<AB20<8, :><5@FV9=8<8 AB@C:BC@0<8 B0 V=.  

#V4 45@602=8<8 V=25AB8FVS<8 @>7C<VRBP 2:;045==S 7 F5=B@0;P=>3> V 

<VAF52>3> 1R465BV2, ?>701R465B=8E D>=4V2, 0 B0:>6 2:;045==S :>HBV2 

45@602=8E ?V4?@8є<AB2 V >@30=V70FV9. � =8=VH=VE C<>20E 7030;P=89 >1AS3 

F8E V=25AB8FV9 7=0G=> 7<5=H82AS. 

!0 AP>3>4=V 7=0G=0 C2030 ?@84V;SєBPAS V=>75<=8< V=25AB8FVS<. #V4 FVєR 

:0B53>@VєR V=25AB8FV9 @>7C<VRBP 2:;045==S :>HBV2 ?@820B=8<8 01> 

45@6020<8 V=>75<=8<8 V=25AB>@0<8. «�V;PHVABP 5:>=><VABV2 22060RBP, V 7 

=8<8 =5 <>6=0 =5 ?>3>48BPAS, I> 2 C<>20E 7=865==S V=25AB8FV9=>W 

0:B82=>ABV 2VBG87=S=8E V=25AB>@V2, >4=8< 7 3>;>2=8E G8==8:V2 0:B82V70FVW 

5:>=><VG=8E ?@>F5AV2 V ?@>2545==S AB@C:BC@=8E ?5@5B2>@5=P 2 

3>A?>40@AP:><C :><?;5:AV :@0W=8 є V=>75<=V V=25AB8FVW» [65]. #@>B5, =0 

4C<:C 45S:8E CG5=8E V=>75<=V V=25AB8FVW =5 <>6CBP 7=0G=> 2?;8=CB8 =0 

=8=VH=є ?>;>65==S 5:>=><V:8 ':@0W=8, 0 WE 0:B82=5 70;CG5==S <>65 

?@825AB8 4> B>3>, I> :@0W=0 ?>71C45BPAS A2>єW =570;56=>ABV.  

&><C, =0 =0H ?>3;S4, =5>1EV4=5 @>7@>18B8 45@602=V 2065;V, I> 1C4CBP 

740B=V @53C;R20B8 ?@>F5A V=>75<=>3> V=25ABC20==S. �5@602=5 @53C;R20==S 

4>72>;8BP 70?>1V3B8 =530B82=8< =0A;V4:0< V=>75<=>3> 2B@CG0==S 2 5:>=><V:C 

':@0W=8, 0 B0:>6 ?@8?8=8BP @>728B>: ?@>F5AC @C9=C20==S =0FV>=0;P=>3> 

?V4?@8є<=8FB20. 

-5 >4=8< 284>< V=25AB8FV9 70 D>@<>R 2;0A=>ABV є AC<VA=V V=25AB8FVW. 

%C<VA=V V=25AB8FVW - F5 2:;045==S :>HBV2 2 V=25AB8FV9=V ?@>5:B8 V=25AB>@0<8 

7 45:V;P:>E :@0W=. �06;82>R >@30=V70FV9=>R D>@<>R B0:>3> V=25ABC20==S є 

A?V;P=V ?V4?@8є<AB20. 

�0 465@5;0<8 DV=0=AC20==S @>7@V7=SRBP:  

- 2;0A=V :>HB8 V=25AB>@0;  

- ?>78:>289 :0?VB0; (45@602=89 :@548B, :@548B8 :><5@FV9=8E; 10=:V2 

V V=H8E CAB0=>2);  

- 70;CG5=V :>HB8 (:>HB8 V=H8E V=25AB>@V2 V 2:;04=8:V2). 
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' 1030BP>E 4>A;V465==SE :;0A8DV:0FVS V=25AB8FV9 284V;SєBPAS 70 

@53V>=0;P=>R >7=0:>R. !0?@8:;04, 2 A2>W9 @>1>BV �.". �;0=: 284V;Sє 420 2848 

B0:8E V=25AB8FV9: 2=CB@VH=V V=25AB8FVW V V=>75<=V V=25AB8FVW [32, 62]. !0 =0H 

?>3;S4, ?>4V1=5 @0=68@C20==S =01030B> A?@>I5=5 V =5 15@5 4> C2038 

A?5F8DV:C <V6@53V>=0;P=8E V=25AB8FV9=8E ?@>F5AV2 V >A>1;82>AB59 

V=25AB8FV9=>W 4VS;P=>ABV 2 >:@5<8E @53V>=0E :@0W=8.  

"B65, <>6=0 284V;8B8 =0ABC?=V 2848 V=25AB8FV9 70 @53V>=0;P=>R 

>7=0:>R: V=25AB8FVW 70 :>@4>=><; V=25AB8FVW 2 A5@548=V :@0W=8 B0 <VAF52V 

V=25AB8FVW.    

�06;828< 2065;5< 2?;82C =0 ?V4?@8є<=8FP:C 4VS;P=VABP AC1’є:BV2 

3>A?>40@R20==S V =0 5:>=><V:C 45@6028 2 FV;><C є V=25AB8FV9=0 ?>;VB8:0 

@53V>=C, S:0 є >4=VєR V7 A:;04>28E V=25AB8FV9=>W ?>;VB8:8 45@6028. �0 

4>?><>3>R V=25AB8FV9=>W ?>;VB8:8 45@6020 <>65 2?;820B8 =0 B5<?8 

7@>AB0==S >1AS3V2 28@>1=8FB20, =0 ?@8A:>@5==S =0C:>2>-B5E=VG=>3> 

?@>3@5AC, =0 7<V=8 AB@C:BC@8 ACA?V;P=>3> 28@>1=8FB20 V @VH5==S 1030BP>E 

A>FV0;P=8E ?@>1;5<. 

&0:, 2 1V;PH>ABV =0C:>28E ?@0FP 284V;SRBP =0ABC?=89 270є<>72’S7>: 

V=25AB8FV9=>W ?>;VB8:8 (@8A. 1.2.). 

 

 

 

    

 

 

 

 

 

 

 

$8A. 1.2 �70є<>72’S7>: V=25AB8FV9=>W ?>;VB8:8 

�5@602=0 5:>=><VG=0 B0 A>FV0;P=0 ?>;VB8:0 

�5@60=0 V=25AB8FV9=0 ?>;VB8:0 

$53V>=0;P=0 
V=25AB8FV9=0 
?>;VB8:0 

�=25AB8FV9=0 
?>;VB8:0 

?V4?@8є<AB20 

�0;C7520 
V=25AB8FV9=0 
?>;VB8:0 

�=25AB8FV9=0 ?@>3@0<0 
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�5@602=0 V=25AB8FV9=0 ?>;VB8:0 F5 AC:C?=VABP <0:@>5:>=><VG=8E 

?V4E>4V2 V @VH5=P, S:V 287=0G0RBP =0?@S<:8 V=25ABC20==S 4;S AB2>@5==S 

A?@8SB;828E C<>2 2AV< AC1’є:B0< ?V4?@8є<=8FP:>W 4VS;P=>ABV.  

 5B>R 45@602=>W V=25AB8FV9=>W ?>;VB8:8 є ?V49>< 5:>=><V:8, 

?V428I5==S 5D5:B82=>ABV 28@>1=8FB20 V @VH5==S A>FV0;P=>-5:>=><VG=8E 

?@>1;5<. «�5@602=0 V=25AB8FV9=0 ?>;VB8:0 <0є AB2>@R20B8 A?@8SB;8289 

V=25AB8FV9=89 :;V<0B 70 4>?><>3>R ?>40B:>2>W B0 0<>@B870FV9=>W ?>;VB8:8, 

<5B>4V2 3@>H>2>-:@548B=>3> @53C;R20==S, V=AB8BCFV9=C 287=0G5=VABP 2 

C?@02;V==V ?@>F5A>< 70;CG5==S V=25AB8FV9 WE ?;0=C20==S B0 @50;V70FVW» [26]. 

/: 10G8<>, 45@60=0 V=25AB8FV9=0 ?>;VB8:0 ?>4V;SєBPAS 70 B@P><0 

=0?@S<:0<8: @53V>=0;P=89, V=25AB8FV9=0 ?>;VB8:0 ?V4?@8є<AB20 B0 30;C7520 

V=25AB8FV9=0 ?>;VB8:0. �AV 2>=8 <0RBP BVA=89 270є<>72’S7>: <V6 A>1>R, 0;5 

287=0G0;P=>R є 45@602=0 V=25AB8FV9=0 ?>;VB8:0, >A:V;P:8 2>=0 є 

0:B82V7CRG8< D0:B>@>< =0 2AVE @V2=SE: <0:@>, <V:@> V @53V>=0;P=><C. 

 

1.2. �<VAB B0 @>;ь >?B8<V70FVW >@30=V70FV9=>-5:>=><VG=>3> <5E0=V7<C 2 
68B;>2><C 1C4V2=8FB2V  

 

#V4 @53V>=0;P=>R V=25AB8FV9=>R ?>;VB8:>R @>7C<VRBP A8AB5<C 70E>4V2 

=0 @V2=V @53V>=C :@0W=8, S:0 A?@8Sє <>1V;V70FVW V=25AB8FV9=8E @5AC@AV2 V 

287=0G5==R =0?@S<:V2 WE 5D5:B82=>3> V @0FV>=0;P=>3> 28:>@8AB0==S. "FV=:0 

V=25AB8FV9=>W ?@8201;82>ABV @53V>=C :@0W=8 74V9A=RєBPAS ?@8 @>7@>1FV 

V=25AB8FV9=>W AB@0B53VW ?V4?@8є<AB2 @53V>=C V @53V>=0;P=>W 4825@A8DV:0FVW 

9>3> V=25AB8FV9=>3> ?>@BD5;R. 

/: ?>:07Cє ?@82545=0 AB@C:BC@0, >A=>2=8<8 V=25AB8FV9=8<8 @5AC@A0<8 

2 A>FV0;P=>-5:>=><VG=><C @>728B:C @53V>=V2 є 2;0A=V :>HB8 ?V4?@8є<AB2, 

>@30=V70FV9, :>HB8 =0A5;5==S, :@548B=V @5AC@A8 10=:V2 V :@548B=8E A>R7V2, 

S:V 2 AC:C?=>ABV A:;040RBP 82,3% 7030;P=8E >1AS3V2 V=25ABC20==S. 

 !0 @8A. 1.3 ?>40=0 AB@C:BC@0 V=25AB8FV9 2 >A=>2=89 :0?VB0; ?> 

465@5;0< DV=0=AC20==S. 



13 

 

62,4

10,2
8,5

7,2
1,4

5,9

4,4

 

$8A.1.3 %B@C:BC@0 V=25AB8FV9 2 >A=>2=89 :0?VB0; ?> 465@5;0< DV=0=AC20==S 

 

"4=8< 7 V=25AB>@V2 2 >A=>2=89 :0?VB0; є 45@6020 V <VAF52V 1R465B8. !0 

WE G0AB:C 4>2>48BPAS 10,2% V 8,5% 2V4 7030;P=>3> >1AS3C V=25AB8FV9. �> 

A:;04C V=25AB8FV9 2E>4SBP 45@602=V V=25AB8FVW 2 ?@><8A;>2VABP, 1C4V2=8FB2>, 

0 B0:>6 DV=0=AC20==S @V7=>3> @>4C 45@602=8E V @53V>=0;P=8E ?@>3@0<. 

"4=VєR V7 A:;04>28E 45@602=>W V=25AB8FV9=>W ?>;VB8:8 є  V=25AB8FV9=0 

?>;VB8:0 ?V4?@8є<AB20 S:0 AB0=>28BP G0AB8=C 7030;P=>3>A?>40@AP:>W 

AB@0B53VW. *S AB@0B53VS ?>;S30є C 281>@V =091V;PH 5D5:B82=8E <5E0=V7<V2 

V=25ABC20==S 7 <5B>R 70157?5G5==S 28A>:8E B5<?V2 @>ABC AC1’є:B0 

?V4?@8є<=8FP:>W 4VS;P=>ABV V 71V;PH5==S B5<?V2 @>728B:C 9>3> 3>A?>40@AP:>W 

4VS;P=>ABV. &0:8< G8=><, A;V4 707=0G8B8, I> >4=8< V7 ?@8>@8B5B=8E 70240=P 

V=25AB8FV9=>W ?>;VB8:8 ?V4?@8є<AB20 є ?@89=SBBS >1�@C=B>20=8E @VH5=P 

AB>A>2=> 2V4B2>@R20;P=>W AB@C:BC@8 :0?VB0;P=8E 2:;045=P. 

�06;82C @>;P 2 ?V49><V 5:>=><V:8 45@6028 2V4V3@0є 30;C7520 

V=25AB8FV9=0 ?>;VB8:0, S:0 B0:>6 є A:;04>2>R G0AB8=>R 7030;P=>45@602=>W 

V=25AB8FV9=>W ?>;VB8:8. �>=0 @>7@>1;SєBPAS =0 @V2=V >:@5<8E <V630;C7528E 

:><?;5:AV2 V 30;C759 5:>=><V:8.  

#V4 30;C752>R V=25AB8FV9=>R ?>;VB8:>R @>7C<VRBP 281V@ V ?V4B@8<:C 

?@8>@8B5B=8E 30;C759 5:>=><V:8, @>728B>: S:8E 70157?5GCє 5:>=><VG=C 

=570;56=VABP 45@6028 [36].  

�C4V25;P=0 30;C7P – є >4=VєR V7 @>728=CB8E 30;C759 5:>=><V:8 ':@0W=8, 
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A:;04>2>R G0AB8=>R S:>W є ?V4?@8є<AB20 ?@><8A;>2>ABV 1C4V25;P=8E 

<0B5@V0;V2 V 1C4V25;P=>-<>=B06=V >@30=V70FVW G8 1C4V25;P=V DV@<8. �>=0 є 

>4=VєR V7 A:;04>28E V=25AB8FV9=>W ?>;VB8:8 45@6028. "B65, 287=0G5==S 

AB@0B53VG=8E FV;V9 V=25AB8FV9=>W ?>;VB8:8 C 1C4V2=8FB2V є 0:BC0;P=8<.  

&0:8< G8=><, 287=0G8<> AB@0B53VG=V FV;V V=25AB8FV9=>W ?>;VB8:8 C 

1C4V2=8FB2V: 

1. AB2>@5==S A?@8SB;82>3> V=25AB8FV9=>3> :;V<0BC 4;S 70;CG5==S 

V=25AB>@V2; 

2. AB8<C;R20==S 71V;PH5==R :0?VB0;P=8E 2:;045=P C 28@>1=8FB2> 

1C4V25;P=8E <0B5@V0;V2; 

3. V=25AB8FV9=5 70157?5G5==S AB@C:BC@=>W ?5@51C4>28 1C4V25;P=8E 

?V4?@8є<AB2; 

4. <>1V;V70FVS B0 5D5:B82=5 28:>@8AB0==S 2AVE 465@5; V=25AB8FV9=8E 

@5AC@AV2; 

5. AB8<C;R20==S ?V4@S4=8E @>1>B; 

6. 70FV:02;5=VABP 1C4V25;P=8E >@30=V70FV9 C 28:>=0==V 70<>2;5=P. 

�5@602=0 V=25AB8FV9=0 ?>;VB8:0 V 2AV WW A:;04>2V 254CBP 4> @>7@>1FV V 

?@89=SBBR V=25AB8FV9=8E ?@>3@0<, S:V є 2V4>:@5<;5=>R G0AB8=>R 

@50;V7>20=>3> V=25AB8FV9=>3> ?>@BD5;R ?V4?@8є<AB20, AD>@<>20=>3> 70 

30;C752>R, @53V>=0;P=>R B0 V=H>R >7=0:>R 7 <5B>R 7@CG=>ABV C?@02;V==S. 

�=25AB8FV9=0 ?@>3@0<0 2:;RG0є @S4 @50;V7>20=8E V=25AB8FV9=8E ?@>5:BV2.  

%CG0A=89 @>728B>: 5:>=><V:8 :@0W=8 ?>AB0282 ?5@54 >1'є:B82=>R 

=5>1EV4=VABR 0:B82V70FVW V=25AB8FV9=>W 4VS;P=>ABV. !0 4C<:C 1V;PH>ABV 

2VBG87=S=8E V 70@C1V6=8E CG5=8E, V=25AB8FV9=0 4VS;P=VABP є >A=>2=>R 

A:;04>2>R 2AVєW 5:>=><VG=>W ?>;VB8:8 45@6028. �57 =5W =5 240єBPAS H284:> 

?>4>;0B8 7030;P=>5:>=><VG=C :@87C V 289B8 =0 @V25=P 5:>=><VG=>3> 

7@>AB0==S, 70157?5G8B8 ?@8@VAB A>FV0;P=>3> 5D5:BC, 710;0=A>20=VABP 

<0:@>AB@C:BC@8. 

�8E>4SG8 7 287=0G5==S, S:5 AD>@<C;P>20=5 2 �0:>=V ':@0W=8 «#@> 

V=25AB8FV9=C 4VS;P=VABP» [47] V S:>3> 4>B@8<CRBPAS 1V;PHVABP 2VBG87=S=8E 
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CG5=8E, ?V4 V=25AB8FV9=>R 4VS;P=VABR @>7C<VRBP ?>A;V4>2=C AC:C?=VABP 4V9 

AC1’є:BV2 V=25AB8FV9=>3> ?@>F5AC I>4> 4> 74V9A=5==S V=25AB8FV9 7 <5B>R 

>45@60==S 4>E>4C 01> ?@81CB:C. 

 «�>6=0 45@6020 S: AC1’є:B V=25AB8FV9=>W 4VS;P=>ABV =0 70:>=>402G><C 

@V2=V 287=0G0є ?@02>25 ?>;5, B0 5:>=><VG=V V A>FV0;P=V C<>28 FVєW 4VS;P=>ABV» 

[45]. � 1V;PH 2C7P:><C B;C<0G5==V ?>=SBBS V=25AB8FV9=>W 4VS;P=>ABV 

28:>@8AB>2CRBP B5@<V= «V=25AB8FV9=89 ?@>F5A». #>=SBBS «V=25AB8FV9=89 

?@>F5A» ?>2’S70=> 7 >1�@C=BC20==S< V @50;V70FVєR V=25AB8FV9=8E ?@>5:BV2.  

!02545=V ?@8=F8?8, 70 S:8<8 <0є 74V9A=R20B8AS V=25AB8FV9=89 ?@>F5A 

C 45@602V 7 @8=:>2>R 5:>=><V:>R[13, 25]:  

1. 287=0G5==S F8:;V2 V=25AB8FV9=>W 0:B82=>ABV; 

2. 287=0G5==S 270є<>4V9 ;>:0;P=8E, 30;C7528E, @53V>=0;P=8E, V 

=0@>4=>3>A?>40@AP:8E F8:;V2 V=25AB8FV9=>W 0:B82=>ABV; 

3. D>@<C20==S @8=:>28E 2065;V2 2 V=25AB8FV9=V9 AD5@V 7 ?>4V1=8<8 

?@>F5A0<8 2 V=H8E 30;C7SE =0@>4=>3> 3>A?>40@AB20; 

4. ;>3VG=VABR V FV;P=VABR V=25AB8FV9=>3> F8:;C; 

5. ?@V>@8B5B=VABR A?@S<C20==S :>HBV2 4;S @50;V70FVW :>=:@5B=8E 

70E>4V2 4;S @50;V70FVW V=25AB8FV9=>3> ?@>F5AC. 

' ACG0A=8E A>FV0;P=>-5:>=><VG=8E C<>20E 45F5=B@0;V70FVW 

V=25AB8FV9=>W 4VS;P=>ABV, =55D5:B82=>W 45@602=>W ?>;VB8:8 [51], 2V4ACB=>ABV 

2V;P=8E @5AC@AV2 ?V4?@8є<AB2, @53V>=0;P=8E V <VAF528E 1R465BV2 7@>AB0є 

0:BC0;P=VABP 4>A;V465=P @53V>=0;P=8E 0A?5:BV2 V=25AB8FV9=>W 4VS;P=>ABV. *5 

>1C<>2;5=> B0:8<8 <><5=B0<8: 

- @>710;0=AC20==S DV=0=A>2>-3>A?>40@AP:8E 2V4=>A8= V 

=5AD>@<>20=VABP V=25AB8FV9=>3> @8=:C. *V =530B82=V D0:B>@8  

CA:;04=RRBP @50;V70FVR 1030BP>E =0@>4=>3>A?>40@AP:8E 70240=P, S:V 

?V428ICRBP V=B5@5A V 71V;PHCRBP =5>1EV4=VABP 2 :>=:@5B=8E 

5:>=><VG=8E @>7@>1:0E, >4=8< 7 206;828E 284V2 S:8E є @53V>=0;P=V 

4>A;V465==S; 

- 7 0:B82V70FVєR V=25AB8FV9=>3> ?@>F5AC, AB@C:BC@=>W V B5E=>;>3VG=>W 
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?5@51C4>28 3>A?>40@AP:8E :><?;5:AV2 @53V>=V2 ':@0W=8. �:B82V70FVS 

F8E ?@>F5AV2 =040;0 0:BC0;P=>ABV @>7@>1:8 ?@>1;5<8 =0C:>2>-

B5>@5B8G=8E 4>A;V465=P 2 >1;0ABV @53V>=0;P=>W 5:>=><V:8; 

- 7@>AB0==S< V=>75<=8E V=25AB8FV9. &><C, 0:BC0;P=>R є ?@>1;5<0 

4>A;V465==S ?@8@>4=8E, 5:>=><VG=8E, A>FV0;P=8E, 5:>;>3VG=8E V V=H8E 

C<>2 WW 74V9A=5==S. � @57C;PB0BV 2 ACG0A=V9 2VBG87=S=V9 5:>=><VG=V9 

=0CFV 7'S28;8AS B0:V :0B53>@VW, S:: «V=25AB8FV9=89 :;V<0B» V 

«V=25AB8FV9=0 ?@8201;82VABP @53V>=V2»; 

- 7@>AB0==S V=25AB8FV9=>W 0:B82=>ABV. "B65, AB0є 0:BC0;P=>R ?@>1;5<0 

?>HC:C 4>40B:>28E @575@2V2 ?V428I5==S 5D5:B82=>ABV @50;V70FVW 

V=25AB8FV9=8E ?@>5:BV2, 206;825 <VAF5 A5@54 S:8E 709<0RBP 

@53V>=0;P=V @575@28. 
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=0ABC?=8E ?>:07=8:V2 S:  :>5DVFVє=B 5D5:B82=>ABV V=25ABC20==S V ?5@V>4 

>:C?=>ABV V=25AB8FV9. ' ?@0:B8FV :>5DVFVє=B 5D5:B82=>ABV V=25ABC20==S 

287=0G0єBPAS S: @VG=0 =>@<0 5D5:B82=>ABV, S:C <>6=0 >1G8A;8B8 =0ABC?=8< 

G8=>< [119,120, 104]: 

õ
õý

K

N
Er             (1.1), 

45 rE  - @VG=0 =>@<0 5D5:B82=>ABV; 

N - A5@54=P>@VG=V 3@>H>2V =04E>465==S, 3@=.; 

К - AC<0 V=25AB>20=8E :>HBV2, 3@=.. 

�=25AB8FV9=89 ?@>5:B ?@89<0єBPAS, :>;8 1órE . �>;8 ?@8 ?V4@0EC=:0E 

V=25AB>@ <0є 72>@>B=V9 ?>:07=8: ?@>5:B <0є 1C48 2V4E8;5=8<.   

#5@V>4 >:C?=>ABV >1G8A;RєBPAS S: 72>@>B=V9 ?>:07=8:: 

rp EN

K
PO

1
ýý

õ
õ

          (1.2), 

 45PO  - ?5@V>4 >:C?=>ABV, @>:8; 

pN  - 7030;P=0 AC<0 ?@>3=>7>20=8E ?>25@=5=P. 

"1;V:>2V <5B>4V >FV=:8 V=25AB8FV9=8E ?@>5:BV2 ?5@5410G0RBP 

@>7@0EC=>: 10;0=A>2>W B0 G8AB>W @5=B015;P=>ABV V=25AB8FV9: 

õ
ý

K

D
R r

b             (1.3), 

ø ù
õ


ý
K

PPD
R r

p           (1.4), 

45 bR  - 10;0=A>20 @5=B015;P=VABP V=25AB8FV9; 

pR  - G8AB0 @5=B015;P=VABP V=25AB8FV9; 

rD - A5@54=P>@VG=89 4>EV4 ?V4?@8є<AB20; 

K  - >1AS3 V=25AB8FV9; 

PP  - ?>40B:>2V B0 2V4A>B:>2V ?;0B56V.  
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� ':@0W=V F59 <5B>4 28:>@8AB>2CєBPAS G0AB:>2>: >1G8A;RєBPAS BV;P:8 

10;0=A>20 @5=B015;P=VABP, 0 ?@8@VAB ?@81CB:C є @57C;PB0B>< V=25AB8FV9=>W 

4VS;P=>ABV [119,120].    

' A2VB>2V9 ?@0:B8FV 2V4><> 45:V;P:0 <5B>4V2 >FV=:8 5D5:B82=>ABV 

V=25AB8FV9 V 68BBє2>3> F8:;C ?@>5:BC, S:V �@C=BCRBPAS =0 B5>@VW B8<G0A>2>W 

20@B>ABV 3@>H59. �> =8E 2V4=>ASBPAS: 

- <5B>4 G8AB>W ?@82545=>W 20@B>ABV - NPV ; 

- <5B>4 2=CB@VH=P>W =>@<8 4>E>4=>ABV (5D5:B82=>ABV) - IRR ; 

- <5B>4 287=0G5==S AB@>:C >:C?=>ABV - PP ; 

- <5B>4 287=0G5==S >1;V:>2>W =>@<8 4>E>4=>ABV, % - ARR  

- <5B>4 287=0G5==S ?@81CB:>2>ABV V=25AB8FV9=>3> ?@>5:BC PI . 

� =0C:>2>W ;VB5@0BC@V <>6=0 7=09B8 I> =09<5=H5 45ASBP B5@<V=V2, S:V 

40RBP B;C<0G5==S, I> 4> 5:>=><VG=>W ACB=>ABV <5B>4C G8AB>W ?@82545=>W 

20@B>ABV ?@>5:BC ( NVP ). !0?@8:;04, 2 @>1>B0E 28:>@8AB>2CRBPAS B5@<V=8: 

 - G8AB89 48A:>=B>20=89 4>E>4 ; 

- G8AB89 ?@82545=89 4>E>4 ; 

- G8AB0 ?>B>G=0 20@BVABP; 

- G8AB0 48A:>=B=0 20@BVABP; 

- 7030;P=89 DV=0=A>289 @57C;PB0B 2V4 @50;V70FVW ?@>5:BC; 

- ?>B>G=0 20@BVABP; 

- G8AB0 ?>B>G=0 20@BVABP ?@>5:BC; 

- G8AB0 ?@82545=0 20@BVABP ?@>5:BC; 

- G8AB89 48A:>=B>20=89 4>E>4 01> V=B53@0;P=89 5D5:B; 

- G8AB>W B5?5@VH=P>W 20@B>ABV. 

$V7=V =0728 >4=>3> 9 B>3> 65 :@8B5@VR =5 <0;8 1 VAB>B=>3> 7=0G5==S, S: 

I> 2 ;VB5@0BC@V =5 ?@>?>=C20;8AP 18 @V7=V 0;3>@8B<8 9>3> >FV=:8.     

"B65, ?@>2545=89 0=0;V7 B;C<0G5=P ?>:07=8:0 NPV  (Net Present Value) 

=040є <>6;82VABP 287=0G8B8 G8ABC ?@82545=C 20@BVABP S: AC<0@=C ?@82545=C 

20@BVABP 4>E>4C 70 28=SB:>< AC<0@=>W ?@82545=>W 20@B>ABV 28B@0B. 
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#>4V1=C @V7=><0=VB=VABP ?V4E>4V2 <>6=0 7=09B8 V ?@8 287=0G5=V 

5:>=><VG=>W ACB=>ABV B0:8E ?>:07=8:V2 S: B5@<V= >:C?=>ABV, 2=CB@VH=S =>@<0 

?@81CB:>2>ABV, V=45:A @5=B015;P=>ABV V :>5DVFVє=B 5D5:B82=>ABV. 

�=25AB8FV9 ?@>5:B8 <>6CBP =>A8B8 >4=>@07>289 E0@0:B5@ G8 

V=25ABC20==S <>65 74V9A=R20B8AS ?@>BS3>< 45:V;P:>E ?5@V>4V2 (@>:V2).  

/:I> 74V9A=RRBPAS @07>2V V=25AB8FVW G8AB0 ?@82545=0 20@BVABP 

>1G8A;RєBPAS 70 D>@<C;>R: 

ø ù
IC

r

P
NPV

n

n

t 
û

ýõ
1 1

        (1.5),  

/:I> ?@>5:B ?5@5410G0є V=25ABC20==S ?@>BS3>< 45:V;P:>E @>:V2, G8AB0 

?@82545=0 20@BVABP >1G8A;RєBPAS B0:V< G8=><: 

ø ù ø ùõõ
û


û

ý
n

n

n
n

n

n

r

IC

r

P
NPV

11 11
        (1.6), 

45 NPV - G8AB0 ?@82545=0 20@BVABP, 3@=.; 

tP  - B5?5@VH=S 20@BVABP 3@>H>28E 2:;045=P ?@>BS3>< ?5@V>4C, 3@=.; 

IC - ?>G0B:>2V (AB0@B>2V) V=25AB8FVW, 74V9A=5=V 70 ?5@V>4 t,  

r  - ?@>F5=B=0 AB02:0. 

&0:V< G8=><, 5:>=><VG=0 ACB=VABP >FV=:8 70 <5B>4>< ?@82545=>W 

20@B>ABV NPV ?>;S30є 2 ?>@V2=S==V ?>B>G=>W 20@B>ABV 28B@0B V 4>E>4V2: S:I> 

0þNPV  V=25ABC20==S 22060єBPAS 283V4=8< V ?@>5:B 4>FV;P=> ?@89<0єBPAS, 

S:I> 0üNPV , V=25ABC20==S =5283V4=> V ?@>5:B 2V4E8;SєBPAS. 

�=CB@VH=S =>@<0 4>E>4=>ABV (5D5:B82=>ABV) ( IRR - International Rate of 

Return) F5 ?>:07=8:, S:89 G0AB> 28:>@8AB>2CєBPAS ?@8 0=0;V7V V=25AB8FV9=8E 

?@>5:BV2. #V4 2=CB@VH=P>R =>@<>R 4>E>4=>ABV V=25AB8FV9 @>7C<VRBP B0:5 

7=0G5==S AB02:8 48A:>=BC, S:89 70157?5GCє ?>B>G=>W 20@B>ABV 28B@0B ?>B>G=>W 

20@B>ABV 4>E>4V2, B>1B> =5>1EV4=> ?V4V1@0B8 B0:5 7=0G5==S 48A:>=BC, S:89  

70157?5G8BP 7=0G5==S 0þNPV  01> 0ýNPV . 

"B65, 2=CB@VH=S =>@<0 4>E>4=>ABV (5D5:B82=>ABV) 287=0G0єBPAS 

=0ABC?=8< G8=><: 
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ø ù
ø ù ø ù ø ù

21

21

1

1 rr
rNPVrNPV

rNPV
rIRR ô


ûý        (1.7), 

45 
1r  - 7=0G5==S ?@>F5=B=>W AB02:8 2 48A:>=B=><C <=>6=8:C, ?@8 S:><C 

ø ù ø ù 0;0 11 þü rfrf ; 

2r  - 7=0G5==S ?@>F5=B=>W AB02:8 2 48A:>=B=><C <=>6=8:C, ?@8 S:><C 

ø ù ø ù 0;0 22 þü rfrf . 

&>G=VABP @>7@0EC=:V2 >15@=5=0 4> 25;8G8=8 V=B5@20;C 
21, rr , =09:@0I8< 

1C45 B>9 @57C;PB0B, 45 V=B5@20; AB0=>28B8<5 25;8G8=C 1%. 

&0:V< G8=><, ?>:07=8: 2=CB@VH=P>W =>@<8 4>E>4=>ABV ø ùIRR  

?>@V2=RєBPAS 7V A5@54=P>72065=>R 20@BVABR :0?VB0;C ø ùWACC , V S:I>: 

WACCIRR þ  - ?@>5:B ?@89<0єBPAS 4> @50;V70FVW, WACCIRR ü  - ?@>5:B 

2V4E8;SєBPAS.            

 !0ABC?=8< ?>:07=8:><, S:89 @>7@0E>2CєBPAS ?@8 >FV=:8 

V=25AB8FV9=>3> ?@>5:BC є AB@>: >:C?=>ABV ø ùPP  (Payback period) - F5 ?5@V>4 

G0AC 2V4 <><5=BC ?>G0B:C @50;V70FVW V=25AB8FV9=>3> ?@>5:BC  4> <><5=BC 

22>4C 2 5:A?;C0B0FVR, ?@8 S:><C 4>E>48 AB0RBP @V2=8<8 70B@0B0< :0?VB0;C. 

�=0;V7 =0C:>28E ?@0FP [28,29,104,168] ?>:07Cє, I> ?>:07=8: PP  є =091V;PH 

1;87P:8< 7V A2>W< 7<VAB>< 4> ?>:07=8:0 «AB@>: >:C?=>ABV :0?VB0;P=8E 

2:;045=P», S:V9 28:>@8AB>2CєBPAS 2 ':@0W=V. "4=0:, ?>:07=8: PP  2@0E>2Cє 

:0?VB0;P=V B0 V=25AB8FV9=V 28B@0B8, 0 ?>:07=8: AB@>:C >:C?=>ABV :0?VB0;P=8E 

2:;045=P 2@0E>2Cє BV;P:8 :0?VB0;P=V 2:;045==S.  

&0:V< G8=><, ?>:07=8: B5@<V=C >:C?=>ABV <>6=0 287=0G8B8 70 

=0ABC?=8<8 D>@<C;0<8:  

0) S:I> @VG=V =04E>465==S @V2=><V@=V, 4>E>48, >B@8<0=V C @V7=V ?5@V>48 

>4=0:>2V  V D0:B>@ G0AC =5 2@0E>2CєBPAS, B> >1G8A;RєBPAS A?@>I5=89 

?>:07=8: ?5@V>4C >:C?=>ABV ø ùn , S:V9 287=0G0єBPAS 70 D>@<C;>R:  

nP

CI
n ý            (1.8), 

45 CI - 25;8G8=0 V=25AB8FV9; 
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nP  - I>@VG=89 G8AB89 4>E>4.  

1) S:I> @VG=V =04E>465==S =5@8B<VG=V, B> 28=8:0є =5>1EV4=VABP 

@>7@0EC=:C 48A:>=B=>3> B5@<V=C >:C?=>ABV ø ùDBP (Discount Payback Period), 

S:89 287=0G0єBPAS 70 B0:>R AE5<>R: B5@<V= >:C?=>ABV – F5 ?5@V>4, ?@>BS3>< 

S:>3> AC<0 G8AB>3> 48A:>=B=>3> 4>E>4C 4>@V2=Rє AC<V V=25AB8FV9: 

ø ù õõ ý
û

nn

n

n IC
r

P

11 1
          (1.9),  

45 nP - @VG=V 4>E>48; 

õ
n

IC
1

- AC<0 2AVE V=25AB8FV9. 

 5B>4 287=0G5==S V=45:AC @5=B015;P=>ABV ø ùPI (Profitability index) є 

;>3VG=8< ?@>4>265==S <5B>4C G8AB>W ?@82545=>W 20@B>ABV ø ùNPV .  #>:07=8: 

PI  є 2V4=>H5==S< AC<8 ?@82545=8E 5D5:BV2 4> 25;8G8=8 :0?VB0;>2:;045=P,  V 

287=0G0єBPAS =0ABC?=8< G8=><: 

0) S:I> V=25AB8FVW 74V9A=RRBPAS >4=>@07>2>: 

ø ù
ø ùõõ û

ýø
û

ý
n

t

n

t

t

n

n

t

IC

rP
IC

r

P
PI

11

1

1
       (1.10), 

45 tP - 3@>H>2V =04E>465==S 70 ?5@V>4 t  (G8AB89 4>EV4); 

 tIC  - AB0@B>2V V=25AB8FVW; 

ø ùn
rû1 - 48A:>=B=89 <=>6=8:. 

1) S:I> V=25AB8FVW 74V9A=RRBPAS 2 G0A>2><C ?5@V>4V 3@>H>28<8 

?>B>:0<8: 

ø ù
ø ùn

n

t

n

n

t rIC
r

P
PI ûø

û
ý õõ 1

1 11

        (1.11), 

45 tIC  - V=25AB8FV9=V 28B@0B8 (3@>H>289 ?>BV:) 70 ?5@V>4 ....2,1 nt ý   

"B65, 707=0G8<>, I> 0;3>@8B< @>7@0EC=:C ?>:07=8:0 PI є 0=0;>3VG=8< 

0;3>@8B<0< @>7@0EC=:C 28B@0B :0?VB0;C V 4>E>4V2 2V4 @50;V70FVW ?@>5:BC, B><C 

є >G5284=8<, I> V=25AB8FV9=89 ?@>5:B ?@89<0єBPAS 4> @50;V70FVW, S:I> 

:@8B5@V9  1þPI . 
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&0:V<, G8=><, =5>1EV4=> 707=0G8B8, I> =0 2V4<V=C 2V4 ?>:07=8:0 G8AB>W 

?@82545=>W 20@B>ABV ø ùNPV , ?>:07=8: V=45:AC @5=B015;P=>ABV ø ùPI  є 

2V4=>A=8<, B><C ?>:07=8: V=45:AC @5=B015;P=>ABV ø ùPI  є =091V;PH 7@CG=8< 

?@8 2V41>@V V=25AB8FV9=8E ?@>5:BV2, S:V <0RBP >4=0:>2V ?>:07=8:8 NPV , 01> 

?@8 D>@<C20==V ?>@BD5;R V=25AB8FV9, 45 NPV <0є <0:A8<0;P=5 AC<0@=5 

7=0G5==S 2 C<>20E >1<565=>ABV DV=0=A>28E @5AC@AV2.   

�>40B:>28< 4> :>5DVFVє=BC PI  V=45:AC @5=B015;P=>ABV V=25AB8FV9 є 

?>:07=8: :>5DVFVє=BC 5D5:B82=>ABV V=25AB8FV9 ø ùARR  (Accounting Rate of 

Return), S:89 28@060єBPAS C ?@>F5=B0E. "B65, :>5DVFVє=B 5D5:B82=>ABV 

V=25AB8FV9 ø ùARR  @>7@0E>2CRBPAS 70 D>@<C;>R: 

ø ùRVIC

PN
ARR


ý

2
1

         (1.12),  

45 PN - A5@54=P>@VG=89 ?@81CB>:; 

IC - V=25AB8FV9=V 28B@0B8; 

RV - ;V:2V4=0 20@BVABP.  

' B01;8FV 2.1 ?@>2545=> 0=0;V7 ?5@5203 B0 =54>;V:V2 <5B>4V2 >FV=:8 

5D5:B82=>ABV V=25AB8FV9=8E ?@>5:BV2. 

Т45;8Fя 2.1 

�87=0G5==O ?5@5203 B0 =54>;V:V2 <5B>4V2 >FV=:8 5D5:B82=>ABV 
V=25AB8FV9=8E ?@>5:BV2 

 5B>4 >FV=:8 
V=25AB8FV9=>3> ?@>5:BC 

#5@52038 !54>;V:8 

 5B>4 G8AB>W ?@82545=>W 
20@B>ABV  NPV   

#@>AB>B0, H8@>:5 
:>;> 28:>@8AB0==S.  

- 01A>;RB=89 ?>:07=8:; 
-  <>6;820 @>71V6=VABP AB02>: 
48A:>=BC 4;S 4>E>4V2 V 28B@0B; 
-  =5287=0G5=VABP 
@>7@0EC=:>28E <091CB=VE 3@>H>28E 
?>B>:V2.  

 5B>4 >FV=:8 2=CB@VH=P>W 
=>@<8 ?@81CB:>2>ABV IRR  

#@>AB>B0, H8@>:5 
:>;> 28:>@8AB0==S. 

- 7<V==VABP AB02:8 48A:>=BC, 
B.G. =5<>6=0 AB25@46C20B8, I> 
70?;0=>20=0 AB02:0 48A:>=BC 1C45 
4>AS3=CB0; 

- <>6;82> @5V=25ABC20==S 70 
AB02:>R  IRR  

 5B>4 287=0G5==S AB@>:C 
>:C?=>ABV PP  

�;87P:VABP 4> 
?>:07=8:0 «AB@>: 

- =5 2@0E>2CєBPAS 2?;82 
4>E>4V2 >AB0==VE ?5@V>4V2, S:V 
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 5B>4 >FV=:8 
V=25AB8FV9=>3> ?@>5:BC 

#5@52038 !54>;V:8 

>:C?=>ABV 
:0?VB0;P=8E 
2:;045=P»  

<>6CBP 1CB8 >B@8<0=V ?VA;S AB@>:C 
>:C?=>ABV ?@>5:BC; 
- =5 <>65 1CB8 28:>@8AB0=89 
4;S 287=0G5==S ?@81CB:>2>ABV 
?@>5:BC.  

 5B>4 287=0G5==S V=45:AC 
@5=B015;P=>ABV PI  

�>40B:>289 
?>:07=8:, S:89 
4>72>;Sє 1V;PH 
B>G=> >FV=8B8 
5D5:B82=VABP 
V=25AB8FV9=>3> 
?@>5:BC   

- 2V4=>A=89 ?>:07=8:; 
- <>6;820 @>71V6=VABP AB02>: 
48A:>=BC 4;S 4>E>4V2 V 28B@0B; 
-  =5287=0G5=VABP 
@>7@0EC=:>28E <091CB=VE 3@>H>28E 
?>B>:V2. 

 5B>4 287=0G5==S 
:>5DVFVє=BC 5D5:B82=>ABV 
V=25AB8FV9 ARR  

�>40B:>289 
?>:07=8:, S:89 
4>72>;Sє 1V;PH 
B>G=> >FV=8B8 
5D5:B82=VABP 
V=25AB8FV9=>3> 
?@>5:BC   

- =5 2@0E>2Cє @>71V6=>ABV 
20@B>ABV 3@>H59 C G0AV; 
- =5 2@0E>2Cє 2V4<V==>ABV C 
B@820;>ABV 5:A?;C0B0FVW 0:B82V2. 

 

�=0;V7 @>1>B, ?@8A2SG5=8E <5B>40< 5:>=><=>W >FV=:8 V=25AB8FV9=8E 

?@>5:BV2, ?>:0702, I> 2 1V;PH>ABV ?@0FP, ?@8A2SG5=8E 40=>W ?@>1;5<V ?@8 

2V41>@V ?>:07=8:0 >FV=:8 V=25AB8FV9=>W ?@8201;82>ABV ?@>5:BV2 2V440єBPAS 

?5@52030 ?>:07=8:C G8AB>W ?@82545=>W 20@B>ABV ø ùNPV . *5 >1�@C=B>20=> 

=0ABC?=8<8 D0:B>@0<8:  

- 2V= E0@0:B5@87Cє ?@>3=>7>20=C 25;8G8=C ?@8@>ABC :0?VB0;C; 

- ?@8 @50;V70FVW 45:V;P:>E V=25AB8FV9=8E ?@>5:BV2, ?V4AC<>2CRG8 F59 

?>:07=8: :>6=>3> V7 70?@>?>=>20=8E V=25AB8FV9=8E ?@>5:BV2 <>6=0 

?@>25AB8 >FV=:C 25;8G8=8 ?@8@>ABC :0?VB0;C.      

"B65, =0 =0HC 4C<:C, ?@8 5:>=><VG=>W >FV=:8 V=25AB8FV9=8E ?@>5:BV2 2 

68B;>2><C 1C4V2=8FB2V, =5>1EV4=> ?0@0;5;P=> ?@>2>48B8 >FV=:C 

5D5:B82=>ABV 70 :@8B5@Vє< 2=CB@VH=P>W =>@<8 ?@81CB:>2>ABV ( IRR ), B><C I> 

>18420 :@8B5@VW >FV=:8 40RBP >4=0:>2C 2V4?>2V4P =0 ?8B0==S ?@> 283V4=VABP 

DV=0=A>28E 2:;045=P, G8 WW 2V4ACB=VABP. 

 "4=0:, 70?@>?>=>20=V 28I5 <5B>48 >FV=:8 V=25AB8FV9=8E ?@>5:BV 2 

68B;>25 2 1C4V2=8FB2> =5 <>6CBP 1C48 28:>@8AB0=V 157?>A5@54=P> 4;S 

>FV=:8 5D5:B82=>ABV 68B;>2>3> 1C4V2=8FB20 4;S ?5@5A5;5=FV2. &><C, ?@8 
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@>7@>1FV ?>:07=8:V2 >FV=:8 5D5:B82=>ABV V=25AB8FV9=8E ?@>5:BV2 C 68B;>25 

1C4V2=8FB2> 70 #@>3@0<>R @>7A5;5==S B0 >1;0HBC20==S ?5@5A5;5=FV2 

=5>1EV4=> 2@0E>2C20B8 =0ABC?=V D0:B>@8:  
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